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6. Show that : The value of

o Watch Video Solution
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l ° Watch Video Solution
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° Watch Video Solution

98 81 321
11. Evaluate | 88 72 423
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° Watch Video Solution
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o Watch Video Solution
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o Watch Video Solution

16. Prove that
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l ° Watch Video Solution
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https://dl.doubtnut.com/l/_EnuoOpGh0lo5

Y+ z T
17.Show that | vy zZ+x

< <

T

Yy
r+y

= 4xyz

O Watch Video Solution

x b c
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o Watch Video Solution



https://dl.doubtnut.com/l/_EnuoOpGh0lo5
https://dl.doubtnut.com/l/_506dDwsiTdUp
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19. Prove that the determinate
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° Watch Video Solution

20. Without expanding the determinant prove

that
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b b ca|l=1|1 b b
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o Watch Video Solution



https://dl.doubtnut.com/l/_LBQtkVPEYnpk
https://dl.doubtnut.com/l/_tGJREDIvDImZ

21. Solve the equation

lxt+ax X +ax X +al =0,a#0

o Watch Video Solution

22. Find minors and cofactors of all the
2 1 ‘

elements of the determinant . 5

° Watch Video Solution



https://dl.doubtnut.com/l/_gSKw5fUQWpxh
https://dl.doubtnut.com/l/_V6lgKKWfPubA

23. Solve by Cramer's rule: 3x-2y=4

6x-y=11

° Watch Video Solution

24. Solve by Cramer's rule: 3x+2y=4

8x+3y=13

o Watch Video Solution



https://dl.doubtnut.com/l/_2LCLBdYq2a9y
https://dl.doubtnut.com/l/_pDqdf5CVKwNs

25. Solve by Cramer's rule: 3x-2y=4

X-4y=-2

° Watch Video Solution

26. Solve by cramer's rule : 3x-5y=21

5x+y=7

o Watch Video Solution



https://dl.doubtnut.com/l/_2IkkpfWkovZh
https://dl.doubtnut.com/l/_M506U5dzM6EE

27.Solve by cramer's rule : x+y+z=3
2x-y+3z=4

X+2y-z=2

o Watch Video Solution

28. Evaluate the determinates

2 3
1 7

° Watch Video Solution



https://dl.doubtnut.com/l/_u2ixMqzbva2O
https://dl.doubtnut.com/l/_GrZoMUZE0QZO

29. Evaluate the determinates

—cosf —sind
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o Watch Video Solution

3 —4 5
30. Evaluate the determinates{1 1 —2
2 3 1
o Watch Video Solution
2 —1 —2

31. Evaluate the determinates |0 2 —1
3 =5 0
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° Watch Video Solution

32. Find the value of xis | ° ~| = |° 2
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° Watch Video Solution
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33. Find the value of x is — v
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o Watch Video Solution
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34. Using the property of determinants and

2 7 65

without expanding provethat |3 8 75| =10
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° Watch Video Solution

35. Using the property of determinants and
without expanding, prove that:

zrax + ayby + bzcz +¢c| =0

° Watch Video Solution



https://dl.doubtnut.com/l/_j57kUALnhusq
https://dl.doubtnut.com/l/_BppaJiU8aYeJ
https://dl.doubtnut.com/l/_FdBjhR007PuC

36. Using the property of determinants and
without expanding, prove that:

1bca(b + c¢)lcab(c + a)labz(a + b)| = 0

° Watch Video Solution

37. Using the property of determinants and

without expanding prove that
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1
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0 Watch Video Solution
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38. Using the property of determinants and
without expanding, prove that:

|0a — b — a0 — ¢bc0| = 0

° Watch Video Solution

39. Using the property of determinants and

without expanding prove that
p q T
P’ ¢ r*|=pgr(p—q(qg—r)(r—p)
0 ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_ldbTSL1Sn5aj
https://dl.doubtnut.com/l/_YnbGo2Fi4tQI
https://dl.doubtnut.com/l/_TPgstsGGUOVz

40. Find the minors and cofactors of the

elements of the following determinants:

2 —4
0 3

° Watch Video Solution

41. Find the minors and cofactors of the

elements of the following determinants:

1 -2
4 3

° Watch Video Solution



https://dl.doubtnut.com/l/_TPgstsGGUOVz
https://dl.doubtnut.com/l/_d8pvxcocbO8V
https://dl.doubtnut.com/l/_T2D7GMnI2aqf

42. Find the minors and cofactors of the

elements of the following determinants:

2 =3 5
6 0 4
1 5 =7

° Watch Video Solution

43. Find the minors and cofactors of the

elements of the following determinants:

1 0 4
3 5 —1
0 0 2

° Watch Video Solution



https://dl.doubtnut.com/l/_T2D7GMnI2aqf
https://dl.doubtnut.com/l/_oMHCoS9M4dT3

44, Solve the system of equations by cramer's

rule: 5x-y+4z=5, 2x+3y+5z=2 , 5x-2y+6z=-1

o Watch Video Solution

45. Solve the system of equations by cramer's

rule: 2x-3y+z=-1 ,3x+y-2z=1 and 4x-y+z=9

° Watch Video Solution



https://dl.doubtnut.com/l/_oMHCoS9M4dT3
https://dl.doubtnut.com/l/_53IEmuC8aRPW
https://dl.doubtnut.com/l/_BfmYfvNCx8v2

46. Solve the system of equations by cramer's

rule: x+y+z=3 , 2x-y+3z=4 and x+2y-z=2

° Watch Video Solution

47. Solve the system of equations by cramer's

rule: 5x-y=9, 3x+y=7 and x+y+z=4

o Watch Video Solution



https://dl.doubtnut.com/l/_Uh7nPOm3v5BP
https://dl.doubtnut.com/l/_n5rXW4EIVgeU

48. Solve the system of equations by cramer's

rule: x+y+z=1, x+2y+z=2 , x+y+2z=0

° Watch Video Solution

49, Solve the system of equations by cramer's

rule: 3x+y+4z=0 , 5x+y+3z=1, x-3y-4z=5

o Watch Video Solution



https://dl.doubtnut.com/l/_VFDPZj7ltoji
https://dl.doubtnut.com/l/_I16XfAj1Spjb

50. Solve the system of equations by cramer's

rule: x+2y-z=3 , 3x-4y+5z=7 and 7x-y+z=14

° Watch Video Solution

51. Solve the system of equations by cramer's

rule: 3x+3y-4z=2 , 5x-y=4 and 8x+2y-3z=7

o Watch Video Solution



https://dl.doubtnut.com/l/_IylwWL6mJX3c
https://dl.doubtnut.com/l/_nKlb3pZYJMVt

